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Choose the correct answer from the following: 1x20=20
1. When the signal amplitude is equal to carrier amplitude, modulation index will be

a. 50% b. 100%
c. 200% d. 1%

2. If m>1, the carrier wave is

a. Over-modulated b. Under-modulated

c. Both (A) & (B) d. None of the above
3. The device which converts Analog signal into Digital signal is called

a. ADC b. DAC

c. TRIAC d. MPEG
4. In AM wave, only ------- of the total power is available in two side bands.

a. 2/3 b. 1/3

c. 3/3 d. None of the above
5. Fading does not exist in

a. AM(DSBFC) b. DSBSC

c. SSB d. All of the above
6. According to sampling theorem,

a. Ts21/2fn b. Te<1/2fn

c. Ts=1/2fm d. None of the above
7. Nyquist rate is defined by

a. Te>1/2fn b. To<1/2fn

c. Ts=1/2fn d. None of the Above

8. The component in communication system that converts information into electrical
signal is called

a. Amplifier b. Transmitter
c. Transducer d. All of the above
9. Telegraphy is an example of
a. Line communication b. Radio Communication
c. Both (a) & (b) d. None of the above
10. In delta modulation, ------ version of message signal is used.
a. Oversampled b. Undersampled
c. Both (a) & (b) d. None of the Above
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

The unit of entropy is

a. Bytes/symbol b. Bits/symbol
c. Bytes/message d. None of the above
Entropy is the measure of
a. Total information content b. Average information content
c. Both (a) & (b) d. None of the Above
If the probabilities of three symbols are 1/2,1/4 & 1/4, then entropy of the source is
a. 25 b. 2.0
c. 15 d.3
Shannon's theorem is used to find
a. Efficiency of a system b. Capacity of a system
c. Noise of a system d. None of the above
For a noisy channel with SNR=0, capacity will be
a. Infinity b. Zero
c. One d. None of the above
In a lossless channel matrix
a. Suminrowis1 b. Sum in column is 1
¢. Sum in row is 0 d. Sum in column is 0

The channel matrix which contains only one non zero element in each row is called
a. Lossless channel b. Deterministic channel
¢. Noiseless channel d. None of the above

In a noiseless channel, if the number of column are 3 then the number of rows will be

a.2 b. 3
c. 4 d. 1
In PDM, which of the following quantity is variable
a. Width b. Amplitude
¢. Position d. None of the above
MPEG decoder decompress
a. Digital audio b. Digital video
¢. Both (a) & (b) d. None of the above
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[ PART-B : Descrigtive]
Time: 2hr. 40min Marks:50

[Answer question no.1 & any four (4) from the rest |

Explain with the help of diagram the digital TV transmitter and 10
receiver circuit.

What is Shannon’s theorem? Find the equation of frequency 2+8=10
modulated wave.

a. What do you mean by modulation index? The maximum peak 5+5=10
to peak voltage of an AM wave is 24 mV and the minimum
peak to peak voltage is 8 mV. Calculate the modulation factor.

b. Differentiate between DSBFC and DSBSC in AM system.

a. Define Entropy. Discuss mathematical analysis of Entropy. 7+3=10

b. Find the Entropy of a source that emits one of the three possible
symbols A,B&C independently with probabilities 72, ¥4 & Vs .

a. Write short notes on the followings: 6+4=10
(i) Properties of Entropy (ii) Deterministic Channel
b. What do you mean by Discrete memory-less channel? Explain

with the help of Channel matrix.

a. Explain with the help of diagram the Delta Modulation 5+5=10
technique.

b. Write short notes on AM transmitter.

What is Sampling theorem? Discuss the different types of noise. 2+8=10

a. Differentiate between QAM and PAM wave. 5+5=10

b. Write short notes on Frequency discrimination method.
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